Efficiency vs P,

- 0.2
2 : : :
L 0.18F -t R SRRERRRLREEE

> r . . .

S 0.16f--------meieeeeeeee preenmeneees ARREEEE R

9] F : : :

&) - . . .

E014'_ ' """""" " """""" """"""

o o : : ¥
0.12F---4{f---ir-rmmmmeeee R e

0200 ¢ (T SR S
0.08F-- |11 * ............ -
006; 4 :

0.04F -+~ 0 /ISP S |
002;+~u"";d}ﬁ_ £d$ 1
OF b

Ratio

1.2+

,...,...
— 4
——
————
Basoadho
=
L

-4-4L

=
S
3
.
.
o
-+
o0,
e}
;
.
o
2.
=)
w

—— DQM_V0001_R000000001__Global_CMSSW_ckinocut3_RECO
—— DQM_V0001_R000000001__Global__CMSSW_mknocut3_RECO
—— DQM_V0001_R000000001__Global__CMSSW_mknocutinoclean3_RECO

= 0.1 .
2 0 0ok
>\0.09:— """ R AREEEERI L EEELE EERLEEERIALEEEE,
20 oab- |l
(]__,0.08:— """ R AR R R SRR R LR
o E :
E0.07F - fordoe b
&) E t-4

0.08F - Al fi oo eeeei el

0.05F{{- {1

0.04Fif |-l A

0.03E- {alfsHtal -t 1| 4H4T-

0.02F 1 - {- [t

0.0 -}~~~f.
E Lsf- ‘«

i

|
w

|
N

Efficiency vs ¢

s 0.1
4
20.09
2
) 0.08]
(S}
£0.07
(]

= N LN RN RRR R LR

Ratio




	Contents
	Page 1


